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Oliver Twist by Charles Dickens is
one of the most ---- written works in
English language. It has been adapted
for the screen and stage dozens of
times.

A) refused
D) performed E) invested

B) admired C) hated

Hamlet, one of the most important
works of drama, was produced at
17th century, and ---- it is a very old
drama, it still captures the attention
of audiences.

A) while
D) despite

B) besides
E) so

C) even

While translating literature, poetry,
songs and similiar material, translator
should be familiar with not only the
structure ---- two languages but also
--== the culture of people who speak
them.

A) at / with B)on/in
C) of / with D) of / between
E) for / about

4,

5. Mobile phones

it has been proved that when foreign
language learners fail to perform the
necessary language skills success-
fully, they ~---- quickly and lose confi-
dence in their personal abilities.

A) step down B) run out of

C) give up D) let down

E} carry out

some good
advantages for people to take photos
immediately, but you ---- it hard to
transfer them to visual tools.

A) can offer / will have to find
B) had offered / would have found

)

) are offering / must find
D) might offer / could find
)

E) have been offering / should find



6. - 8. sorulan asadidaki pargaya gore
cevaplayiniz.

Krashen believes that there is no fundamental
difference between the way we acquire our
firstlanguage and our subsequent languages.
He claims that humans have an innate ability
that guides the language learning process.
Infants learn their mother language simply by
listening attentively to spoken language that
is meaningful to them. Foreign languages
are acquired in the same way. Krashen
synthesizes his theories of second language
learning in what is usually referred to as the
Monitor Model. We are able to use what we
have learned, in Krashen’s sense, about the
rules of a language in monitoring or self-
correcting our language output. Clearly, this is
possible in the correction of written work. It is
much more difficult when engaging in regular
talk.Krashen states that it is often difficult to
use the monitor correctly since the rules of
a language can be extremely complex. Even
assuming the learner has a good knowledge
of the rule in question, it is difficult to focus on
grammar while simultaneously attempting to
convey meaning and possibly feeling. Most
normal conversation simply does not provide
enough time to do so.

OABT INGILIZCE OGRETMENLIGI *

6. According to the passage, Krashen

A) thinks that there is no difference
between second language
acquisition and learning, both can be
agcuired in the same way.

B} accepts the fact that human acquires
a language through social interaction
with people.

C) agrees with the idea that, if a child
has enough interaction with his or
her family members, it is inevitable
for him or her o acquire the mother
language easily.

D) supports the idea of natural
acquisition of language simply
by listening attentively to spoken
language.

~E) states that even if the rules of a

language is complex, it can be
learned or acquired effortlessly by its
native speakers.

As it is stated by the passage, the
Monitor Model ~~-=

A} is the self correction of speaking
language with the detection of errors
made by speakers.

B) can be easily applied for the
correction of written works rather
than speech.

C) is an editing device used for
operating language performance.

D) occurs when the appropriate rules of
a language are known.

E) is difficult to be applied to all aspects
of a fanguage, since an utterance
can’t clearly convey both meaning

P T S T LY 1 P T



DENEME SINAVE - 1

8.

It can be inferred from the passage
that ===~

A) The learned knowledge helps us to
make corrections of grammer errors.

B) The Monitor Model is the basic
theory of Krashen in second
language learning.

C) The Monitor Model naturally occurs
in second language learning.

D) The best time of learning a foreign
language is infancy.
E) The innate ability of learning a

foreign language could be acquired
even in adulthood.

Helen: Every year Shakespeare festival is
organized by London Municipality.
Are you planning to attend?

Mark: wwa=

Helen: According to theater critics he
helps people to understand their
inner sentiments and learn about
themselves.

Mark: Well, Now | see the the main
reason.

Which of the fdlléWing alternatives
best completes the given dialogue?

A) | wish | could, as you know important
artists are generally not respected
by the public during their lifetime.
Shakespeare was one of them, too.

B) I'd really like to, but | think | will not
have time. Why are you asking?

C) Of course. | can not miss such a
great festival. | am really fond of him
and his instructive plays.

D) Yes, of course. | wonder why his
popularity increases so much with
each passing year.

E) No, Do you know Shakespeare’s

e llve vt v Favimg ivide

10. Dilek: There are a iot of linguistic

concepts. 1 do not know how to
study to learn them.

Metin: ----

Dilek: How can | know which ones will |
encounter?

Metin: You should look at preparation
books to see which -are mostly
asked.

Which of the following alternatives
best completes the given dialogue?

A) You must ask a psychologist for
advice.

B) Really? You were very successful at
linguistic course.

C) You shouid study the ones that might
be asked in the exams.

D) | wish | could help you but | am not
good at this discipline, too.

E) | studied hard for my final linguistic
exam but | failed.



I
11. Pat

ric: What is your opinion about
distance education? | have
recently read a scientific ardicle
on distance education in most
developed countries. It claimed
that in fuiure, distance {eaching
will be more prefered than
regular education by families and
students.

Karen; ----

Pat

ric: So, you are suspicious about it!
What do you think, then?

Karen: Nothing can replace real human

Wh

interaction, therefore, interaction
between human in a classroom
environment will always be
heeded and prefered.

ich of the following alternatives

besf completes the given dialogue?

A)

B)

C)

D)

E)

Right, but 1t will cost more than
traditional education?

I think, in order to create a healthy
learning environment, students
should be encouraged to share
information with each other.

it is sensible so long as all students
have the necessary equipments.

It makes sense in theory, but
in practice it will not meet the
expectations.

Maybe, but as it is very time
consuming and students having no
chance of directly asking questions
will cause detailed learning
deficiencies.

VAD T INAILLACEAASNRE FIVIEINE RS -

12. When English entered in the curriculum of
the students as a cumpolsory subject, it
was a challenge for the English language
teachers to teach to the foreign learners
but they taught English as a knowledge
subject not as a skill subject because
their primary purpose was to teach them
to pass the examinations.

Which of the following alternatives
best restates the given sentence?

A) English being added to the curriculum
of the students as a cumpolsory
lesson forced teachers to teach it
as a knowledge subject but a skill
subject, as the initial aim of teachers
was to help students to pass the
examinations.

B) As English was necessarily added

"~ to the curriculum, it was hard for
teachers to teach English to foreign
students however they taught it as a
knowledge course subject instead of
teaching it as an skill course subject
because teachers’ main aim was
to teach English as a means for
students to pass the exams.

C) English got into the curriculum not
only as a knowledge subject but also
as a skill subject so it was difficult for
English teachers {o teach English and
they chose it as a way fo have the
students pass their exams.

D) Because the teachers main purpose
was to encourage their students to
be successful in the examinations
they taught English as a knowledge
subject but not as a skill subject,
however using this method didn't
meet their expectations.

E) When English managed to find
a place in the curriculum as a
compulsory subject, teachers
immediately realized that they could
not teach it as a skill subject so they
taught it as a knowledge subject
because their first objective was
to teach English to students as a
medium of passing exams.
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13. Shakespeare primarily focused all his

creative energy on the stage, but he was
also one of the the Jeading lyric poets of
his time.

Which of the following alternatives
best restates the given sentence?

A) Even though Shakespeare’s creative
energy was primarily focused on
the stage, he was actually the most
admired lyric poet of the period he
was born in.

B) Besides being a prominent lyric poet
of his age, Shakespeare gave much
importance to theatre.

C) His being a leading lyric poet of his
time coul not retain Shakespeare
from theatre. .

D) Shakespeare was the only artist to
deal with the visual arts in his age,
although lyric poems were mainly
produced to entertain people.

E) Shakespeare mostly focused his
creative energy on the stage, but he
also paved the way for excellent lyric
poefs.

14. First language, also known as mother

tongue, is generally the language a
person learns first. However, one can
have two or more native languages
thus being a native bilingual or indeed
mulftilingual. The order in which these
languages are learned is not necessarily
the order of proficiency. Incomplete first
language skilis often make learning other
languages difficult. Often a child learns
the basics of his or her first language or
fanguages from his or her family. ---- For
instance, in some paternal societies,
the wife moves in with the husband and
thus may have a different first ianguage
or dialect than the local language of the
husband. Yet their children usually oniy
speak their local language.

Which of the following alternatives
best completes the given paragraph?

A) Native language can aid children only
in the beginning stages of learning a
second language.

B) The term mother tongue, however,
should nof be interpreted to mean
that it is the language of one’s
mother.

C) First language skills can also have
negative effects in foreign language
acquisition.

D) Only a few people learn to speak his
or her mother’s language.

E) Itis very rare for bilinguals to have
equal competence in hoth their
languages.



15. Teachers who use positive reinforcement

can get into trouble if they are not careful
to identify the right behaviors to reinforce,
while identifying the behaviours for
reinforcement. ---- Primatrily, it is crucial
for teachers to praise and reward the
desired behavior, which then will make
the behavior more likely to happen
in future. In addition fo that, teachers
should avoid general praise of students
and should administer specific praise at
the appropriate time.

Which of the following alternatives
best completes the given paragraph?

A) No one likes being criticized or
praised in front of other people.

B) Some teachers are so lesson
oriented that they often ignore
the students need for love and
compassion.

C) Doing this is not always as
straightforward as it might seem.

D) People often avoid performing
undesired behaviours that may lead
to unintended consequences.

E) Punishment of bad behaviours can
have some unintended side effects
such as loss of self-respect.

16.

17.

UADT INGILIZLE UGhe HviENLIGL

(I} Motherese is an informal term for the
kind of language that mothers and other
caretakers use when speaking to babies.
() Motherese, which many mothers
do automatically, is an effective way of
communicating with your baby, even
though he won’t understand the meaning
of your words yet. (ll) If your baby seems
to be losing interest in a conversation
- if he’s yawning or looking away - it's
probably time to stop talking. (V)
Exaggerated expressiveness is another
aspect of motherese. Babies respond fo
facial expressions that are larger than
life. (V) As your child understands more,
you can raise the level of conversation
as well as the complexity of the grammar
you use,

. Which of the sentences in the given

paragraph is irrelevant, violating its
unity and coherence?

Al B) Il cn DI E)vV

(I) Content based approach aims fo
teach a scientific content and second
language together. (ll) This approach
uses content related to the need of
students in the courses. It is either based
on a particular profession or academic
discipline. (lll} Thus, the content of a
language course for nursing is different
from one for engineering. (IV} This is
usually accepted as teaching a foreign
language for certain objectives for those,
who want to master in the departments
they specialize in. (V) Nevertheless,
instructors should take into consideration
the students’ previous knowledge about
the subject and the target language is
best learned when an interesting subject
is presented to students.

Which of the sentences in the given
paragraph is irrelevant, violating its
unity and coherence? ‘
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18. Which of the following sentences
does not contain a collective noun?

A) She was attacked by a swarm of
wasps.

B) The priest was very sad to see his
congregation getting smaller week
by week.

C) He was the leader of a well-known
gang of criminals.

D) Her whole body, due to iliness, was
covered with small red spots.

E) The audience applauded the new
play enthusiastically.

19. In which of the following sentences is
the underlined expression misused?

A) | myself will try to learn English but |
sometimes will need your help.

B) These are two teams that are not
particularly fond of one_another.

C) The responsibility for renting out
school facilities will be transferred
directly to the schools themselves.

D) That man is always talking to himself.

E) My brother and myself organized
such a legendary birthday party.

20. Which of the following sentences
contains a structural ambiguity?
A) I'll call you my secretary.
B) They hold meetings every morning.

C) Schools have a significant impact on
human development.

D) We had a terrible meal with our
friends.

E) | ate the apple falling under the table.

21. Which of the following words contains
an example of suffix?

A) Prehistory B) Explosion
C) invisible D) Beautiful
E) React

22. Which of the following lexical items is
not monosyllabic?

A) Clock
D) Horrible

B) Dcne
E) Thank

C) Heailth

23. Which of the following lexical items is
inflected?

A) Driver B) Heavily
C) Married D) Building
E) Acceptable

24.1n which of the following sentences is
the definite article ‘the’ misused?

A) The Dominican Republic was
explored by Columbus on his first
voyage in 1492,

B) The world’'s second largest
metropolitan city is the Seoul.

C) The Nile is an international river as
its water resources are shared by
eleven countries

D) Chile is the closest settlement to the
South Pole.

E) The Spanish are known for their
warm hospitality.



25.In which of the following sentences

does the pronoun ‘she’ necessarily
refer to someone other than Jane?

A) Jane would surely visit us today, if
she had enough time.

B) It saddened Jane too much that she
lost her father at an early age.

C) Jane had to leave early so she did
- nhot stay longer.

D) She was aware that Jane was guilty
of the theft.

E) Jane couldn’t help crying when she
heard the house was taken back
from her due 1o her debts.

26.Which of the following sentences

does not contain a punctuation error?

A) | need to locate four states on
the map, Minnesota, Michigan,
California, and Nevada.

B) | am asking if you would like to
rollerblade together tomorrow.

C) My wife works part time registering,
and placing children in the school
system.

D) it may not be the correct part; but |
bet that it works.

E) Our philosophy teacher thinks that
Einstein meant: that we cannot stop
war by waging wat.

27. The story is told by the pronoun “I" or

28,

29.

‘we”, who may be the main character
in the novel or a minor character in
the novel or an observer of events that
happen to others.

Based on the information above,
which of the following alternative
best describes the type of author
mentioned?

A) second-person  B) first-person

C) unreliable D) omniscient

E) third-person

A novel detailing the emotional and moral
growth of a character is called ----.

Choose the alternative which best
completes the given sentence.

A) metafiction

B) social novel

C) bildungsroman

D) gothic novel

E) historical novel

‘red like a rose, ‘cunning as a fox’, ‘pure
as show’, ‘as blind as a bat’ are all
examples of ----.

Choose the alternative which best

completes the given sentence.
A) metaphor B) symbol
C) allusion D) simile

E) imagery
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30.The epic poem Beowulf describes

31.

the hero-Beowulf-marching with his
fourteen warriors and arrive at the place
of Heorot where he finds that he king of
Heorot Hrothgar terrified by a monster
calied Grendel. Beowulf manages fo
kil Grendel and his monster-mother at
his abode beneath a lake. After that he
returns to his country and becomes the
king there and rules his kingdom for fifty
years. He dies of the wounds he got once
during the combat fought with a dragon.

Which of the following is true accor-
ding to the passage?

A) Grendel is the name of a monster
that wounded Beowulf.

B) Beowulfis a poem about bravery and
heroism of a character.

C) Hrothgar is the name of a place
where a monster reside.

D) Fighting with supernatural creatures
such as dragons is prevalent in Old
English literature.

E) Beowulf fought with Hrothgar with his
warriors to be king.

Which of the following protagonist-

antagonist combinations in

Shakespeare’s plays is nhot correct?

A) Othello - lago

B) Romeo - Juliet

C) Hamlet - Claudius

D) King Lear - Edmund
)

E) Julius Caesar - Antony

+ A
32.---- stresses the Iindividual's unique
position as a self determining agent
responsible for the authenticity of his or
her choices.

Choose the alternative which best
completes the given sentence.

A) Naturalism B) Classicism
C) Surrealism D) Neo-naturalism

E) Existentialism

33.---- is one of the divisions of a poem,
composed of two or more lines usually
characterized by a common pattern of

- meter, rhyme, and number of lines.

Choose the alternative which hest
completes the given sentence.

A) Ballad B) Stanza
C) Rhyme D) Couplet
E) Section

34.Which of the following is a property
of language which states that human
language enables individuals to talk
about their past experiences and
make predictions about future?

A) Discreteness B) Duality
C) Productivity D) Displacement
E) Creativity



35.What is the semantic relationship
between the words ‘potato’ and
‘vegetable’?

A) Vegetable is the hyponym of potato.

B) Both are examples of gradable
antonymy.

C) Potatoe is the synonym of vegetable.
D) They are hyponyms of each other.

E) The second one is the superordinate
of the first one.

36. According to ---- theory there are rules of
language that all humans are born with
and they are internal not imitiated.

Choose the alternative which best
completes the given sentence.

A) Prescriptive grammar
B) Functional grammar
C) Pedagogical grammar
D) Descriptive grammar
)

E) Universal grammar

37.---- are words in two languages that
derive from the same word in an
ancestral language and share a similar
meaning, spelling, and pronunciation.
For example the word ‘piloto’ in spanish
mean ‘pilot’ in english, ‘kilometro’ in
spanish means ‘kilometer’, ‘emergencia’
means ‘emergency’

Choose the alternative which best
completes the given sentence.

A) Cognates B} Accent
C) Jargon D) Dialect
E) Idiolect

AL NI B AT BIVALIN LGS

38.Which of the following is not an
element of Grice’s Conversational
Maxims

A) Relevance B) Quality
C) Manner D) Hedges
E) Quantity

39.In the division of labour between
the two hemispheres of the brain,
which of the following fits into the left
hemisphere?

. A) Intuitive decision making
B) Holistic processing
C) Language skills
D) Fantasy-oriented
E) Thinking multi-dimensionally

40. ---- does not imprison a foreign language
teacher in a circle. On the contrary, It
allows him/her to use of techniques
and activities from a range of language
teaching approaches and methodologies.
It is such a flexible and elastic technique
that it keeps the needs of learners in mind
and several different teaching methods
are borrowed and adapted to needs and
abilities of learners.

Choose the alternative which best
completes the given sentence.

A) The Eclectic Approach

B) The Lexical Approach

C) The Communicative Approach
D) The Cognitive Approach

E) The Holistic Approach
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4.

42,

43.

---- is a random performance slip, and
can be self-corrected, whereas ----
occurs because learners don't probably
know a particular point of a target
language and a speaker cannot correct
it by himself,

Choose the alternative which best
completes the given sentence.

A) Avoidance / compensation

B) Error / mistake

C) Mistake / avoidance

D) Mistake / error

E) Tongue tips / tongue slips

---- is a technique used when the reader
wants to get the main idea of a passage
through rapid reading whereas ---- is a
technique used when the reader wants
to locate a particular piece of information
without necessarily understanding the
rest of a passage.

Choose the alternative which best

completes the given sentence.

A) Skimming / scanning

B) Extensive reading / intensive reading

C) Silent reading / reading aloud

D} Scanning / skimming
)

E) Explatory / analytic

Which of the following is not a
motivation type in second language
acquisition?

A) Integrative B) Intrinsic

C) Physiological D) Extrinsic

E) Instrumental

e
44.The examinee's prior knowledge of the
subject is measured. At the beginning,
middle or end of the academic year such
a test is given to students to see how well
they have learned. This test type is called

[
.

Choose the alternative which best
completes the given sentence.

A) placement test
B) diagnostic test
C) achievement test
D) progress test

E) knowiedge test

45. ---- is usually developed by the school
district, or college administration so
that teachers are aware of what they
are expected to teach throughout the
year. On the other hand, ---- is typically
created by each individual teacher, so it
focuses on a particular class. It usually
offers an overview of the goals of the
course so that students know what is
expected of them by the end of the term.

Choose the alternative which best
completes the given sentence.

A) Syllabus / curriculum

B) Curriculum / course program
C) Course program / syllabus
D) Curriculum / syllabus

E) Syllabus / course program



46.

47.

48.

Which of the following statements
about English language teaching is
not valid for young learners’ class?

A} They frequently learn indirectly rather
than directly so subjects should be
taught implicitly.

B) They have a holistic approach to
language rather than analytical
approaches.

C) They should be encouraged to play
games, role play and involve in
competitions.

D) They are usually more motivated and
have longer attentions spans.

E) The words used in daily life should
. be provided, since they develop their
way of thinking from the concrete to
the abstract thing.

At which stage do children produce
sounds such as ‘ma’, ‘da’, ‘ba’?

A) One-word B) Cooing

C) Babbling D} Holophrastic

E) Two-word

By examining similarities and differences
between first language and second
language, ---- aims to determine learner
errors.

Choose the alternative which best
completes the given sentence.

A) Error analysis

B} Interlanguage

C) Dialect continuum
D) Contrastive analysis
E) Fossilization

49.

50.

The house is at the foot of the mountains.
One of his shoes felt too tight for his foot.

Based on the two sentences given
above, the word ‘foot’ is an example
Of =-=-,

A) hyponymy B} metonymy
C) synonymy D) polysemy
E) antonymy

---- is @ work that ciosely imitates the
style or content of another with the
specific aim of comic effect or ridicule.

7_‘Chéose the aiternative which best

completes the given sentence.

A) Tragedy B) Satire
C) Fiction D) Parody
E) Drama
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COZOMLERI

1. Géztim:

_ Charles Dickens’in Oliver Twist adli eseri
ingilizce dilinde en begenilen yazili eser-

lerden biridir. Ekranlara ve sahnelere de-
" falarca uyarlanmistir.

' Refused: Kabul edilmeyen
 Admired: Sevilen/ Begenilen
_Hated: Nefret ediien

Performed: Gergeklestirilen / Yerine getiri-

_.len

_. Invested: Yatirim yapiian

Dodgru Cevap: B

7 2. Goziim:

~Tiyatro’'nun en 6nemli eserlerinden biri
olan Hamlet, 17. yilizyiida ortaya ¢ikti ve
- ¢ok eski bir tiyatro eseri olmasina rag-
.. men hala izleyicilerindikkatini ¢ekmek-
- tedir.

- Soruda zithk belirten iki durumdan bahsedil-
~ migstir. Sadece A ve D siklarinda ki baglaglar
. zithk belirten badlaclar oldugundan diger
siklari eleriz. D sikkinda ki ‘despite’ baglaci
~isim tamlamalariyla kullanildidi igin D gikkini
_ da eleriz.

While: Ragmen / Oldudu halde /
Besides: Ustelik / Bundan bagka / Hem de
~ Even: Ustelik / Hatta / Bile

- Despite: Ragmen / karsin

~ So: Bu nedenle / Bundan dolayi

Dogru cevap: A

| 3. Coziim:

Edebiyat, siir, sarki ve benzeri malzeme-
lerin gevirisi yapilirken, terclimanlarin
sadece iki dilin yapilarina degil ayni za-
manda o dilleri konugan insanlarin kiil-
tiirlerine de asina olmasi gerekir.

Edat sorularinda dikkat edilmesi gereken -
iki husus vardir: Oncelikle bu tir sorularda
genellikie kaliplagmis edatli yapilarmn olup
olmadigina bakilir. Eder boslugun her iki
kisminda kalip bir yapi yoksa bu tlr sorular -
anlam bakimindan ¢ozGl{r. '

Bu soruda, 2. boslukta but also bagdlaci ile
gevirmenlerin sadece iki dilin yapilarina asi- .
na olmasiyla birlikte o dilleri konugan insan- -
larin kiiltdrlerine de agina olmas! gerektigi
belirtiimigtir. Climlenin basinda belirtilen bir
ifadenin dider bir 6zelligi 2. boslukta belirtil-
mistir bu ytzden “familiar’ sifatinin 2. bosg-
lukta belirtilen ifade igcinde kullanildigini bil-
mek gerekir.'Familiar’ sifatinin with edati ile
birlikte kullanildigini ve kaliplasmig bir edat
oldugunu bilmek bu sorunun ¢éztmUini ko-
laylastiracaktir.

Bu durumda A ve C sikki disindaki giklari
eleriz. A sikkini da anlamdan dolay! eleye-
biliriz, ¢clinkl ‘at’ edatinin 'structure’ sdzci-
Jlnden sonra kullaniimasi do§ru olmaz.

Dogru Cevap: C



“

4. Goziim:

Yabanct dil dgrenicileri gerekli olan dil
becerilerini bagarih bir sekilde yerine
getirmekte basarisiz olduklarinda, onla-
rin cabucak vazgectikleri ve kisisel yete-
neklerine olan glivenlerini kaybettikieri
kanitlanmigtir.

Step down: Inmek / Cekilmek / Istifa etmek
Run out of: Tlikenmek / Bitmek
Give up: Vazgegcmek / Birakmak

Let down: Hayal kirikligina ugratmak / YU-
zUst( birakmak

Carry out: Uygulamak / Gergeklestirmek
Dogru Cevap: C

5. Cozim:

‘Cep telefonlan, aninda fotograf ¢ekmek
icin insanlara baz iyi avantajlar sunabilir
ancak oniar gérsel araglara aktarmakta
zorluk cgekebilirsiniz’ cUmlesinde go6rll-
diga gibi genis zaman (present tense) ya-
pisinin kullaniididi bir cimle verilmistir. Ve-
rilen climiede herhangi bir zaman zarfinin
verilmemistir, bu ylzden bu tarz cumlelerin
anlam agisindan ¢&zU!mesi daha uygun ola-
caktir. Segenekler incelendiginde, D sege-
negi cimleyi en iyi sekilde tamamlamaktadir.

Bu soruda bilinmesi gereken diger bir énemli
hususta, ‘might ve could’ yapilarinin genis
zamanda da kullanilabiliyor olmalaridir.

Dogru Cevap: D
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6. Gazﬁm:
Pragrafa gére Krashen;

A segeneginde; ikinci bir dil edinimi ile ana
dil edinimi arasinda hig bir farkin olmadigi-
nha, her ikisinin de ayni yolla égrenilebildigine
inanmaktadir ifadesi paragrafa gére dogru
bir ifadedir ve bu ifade paragrafin ilik ctim-
lesinde belirtilmistir. Krashen believes that
there is no fundamental difference between
the way we acquire our first language and
our stibsequent languages.

B segeneginde; insanlar diger insanlaria
olan sosyal etkilesim yoluyla bir dil 6grenirler
fikrine katiimaktadir ifadesi paragrafa gore
yanlts bir ifadedir.

C segeneginde verilen; eder bir gocuk allesi
ile yeteri kadar etkilesimde bulunursa, ana

- dilini kolayhkla 6drenmek onun igin kaginil-

maz olur fikrine katilmaktadir ifadesi parag-
rafa gbre yanlig bir ifadedir.

D seg¢enedinde verilen; sadece konusulan
dili dikkatlice dinlemek dilin dogal edinimini
saglayacagi fikrini desteklemektedir ifadesi
paragrafa gére yanhs bir ifadedir.

E segeneginde verilen; bir dilin kurallari ka-
risik olsa bile, ana dili konusanlar tarafindan
bu kurallar kolayiikla 8grenilebilir ifadesi pa-
ragrafa goére yanhs bir ifadedir.

Dogdru cevap: A

I
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7. Gozuim:
Paragrafta belirtildigi gibi the Monitor Model,

A segenedinde verilen; konusmacilar tara-
findan yaptlan hatalarin tespit edilmesiyle
kisinin kendisi tarafindan yapilan diizeltme-
lerdir ifadesi paragrafa dogru dogru bir ifade
degildir.

B segenedinde verilen; konusma dilinin dii-
zeltiimesinden ¢ok yazili eserlerin dizeltil-
mesinde daha kolay uygulanabilir ifadesi pa-
ragrafa gore dogru bir ifadedir ve bu ifadeye
paragraftaki su ciimlelerden kolaylikla vari-
labilir: Clearly, this is possible in the correc-
tion of written work. It is much more difficult
when engaging in reqular talk.

C segenedinde verilen; dil becerisini yénlen-
dirmede kullanilan birkaydetme cihazidir ifa-
desi paragrafa gére dogru bir ifade degildir.

D segenegdinde verilen; bir dilin uygun kural-
lari bilindiginde ortaya ¢ikar ifadesi paragra-
fa gore dogru bir ifade dedildir.

E segenegdinde verilen; bir dilin tim ydnleri-
ne uygulanmasi zordur, ¢link(l bir ifade (s6y-
lem) dilbilgisi olmadan hem anlami hemde
duyguyu ifade edemez ifadesi paragrafa
gore dogru bir ifade degildir.

Dodry cevap: B

“

8. Cézim:

Paragrafta cikarilabilecek sonug;

A secenedinde verilen, dilbilgisi hatalarini
diizeltmede &Jrenilen bilgiler bize yardimci
olur ifadesi paragrafa gore dogru bir ifade
degildir.

B secenegdinde verilen; Monitor Model'in
Krashen'in ikinci dil 6§reniminde ki temel te-
orisi oldugudur ifadesi paragrafa gdre dogru
bir ifadedirbu ifadeye paragrafta ki su ciim-
leden ulasilabiltr. Krashen synthesizes his
theories of second language learning in what
is usually referred to as the Monitor Model.

C segeneginde verilen; Monitor Model, ikinci
dil égreniminde kendiliginden ortaya gikar
ifadesi paragrafa gore dogru bir ifade degil-
dir.

D segenegdinde verilen; Yabanct bir dil 6§-
renmek igin en iyi zamanin bebeklik zamani
oldugudur ifadesi paragrafa gére dodru bir
ifade degildir.

E secenedinde verilen, dodustan var olan
yabanci bir dil 6grenme yetenedi yetiskinlik
yilarinda bile edinilebilir ifadesi paragrafa
g6re dogru bir ifade degildir.

Dogru cevap: B

9. Coziim:

Diyalogta bosluktan énce, Londra belediyesi
tarafindan her yil Shakespeare festivalinin
dizenlendigi belirtilmigtir ve Helen, Mark’a
katiimay! dustnip disinmedigini sormus.
Dolayisiyla Mark'in sorulan soruya 6ncelikle
katiip katilmayacadiyla ilgili bir cevap ver-
mesi gerekmektedir.

Bosluktan sonra gelen climlede ise Shakes-
peare ile ilgili bir agiklama yapiimistir ve son
olarak Mark’'in ‘Simdi asil sebebini anladim’
demesi Mark’inShakespeare ilgili spesifik bir
soru sermus oldugunu belirtir. Bu durum da
da diyaloga gére en uygun sorunun D sece-
nedinde verildigi gorliimektedir.

Mades rovan: D



10. Coziim:

Dilek bosluktan &nceki ciimlede, * Bir ¢ok
dilbilgisi kavraminin oldugundan ve onlari
6grenmek icin nasil calismasi gerektigini
bilmedigini’ belirtmigtir. Bosgluktan sonraki
clmlede ise ' Hangi biriyle karsilacagami
nasil bilebilirm ki? ifadesini kullanmistir. Me-
tinin sdylemis oldugu * En gok hangilerinin
sorulduguna bakmalisin’ ifadesine goére di-
yalodu en iyi sekilde tamamlayabilecek olan
ctmle C segenegdinde verilen ‘Sinavlarda so-
rulabilecek olanlara ¢aligmalisin.’ifadesidir.

Dogru cevap: C

11. Coziim:

Verilen diyalogda Patric uzaktan egitim hak- |
kinda Karen'nin uzaktan egitim ile ilgili fik-

rini almak istemektedir ve yakin zamanda
uzaktan egitimin daha ¢ok tercih edilece§i
ile ilgili bir makale okudugunu belirtmektedir.
Bosluktan sonra Ki cOmlede ise Karen'in be-
lirtilen konu hakkinda kuskularinin oldugu-
nu belirten bir ifade kullanmig ve Karen'den
fikrini belirtmesini istemektedir. Verilen bu
ifadelerden diyalogu en mantikh gekilde ta-
mamlayacak olan ifade D se¢eneginde veri-
len ifadedir. ‘Teoride mantikh gibi géziiklyor
ancak pratikte beklentileri kargilamayacak-
tir.

Dogru cevap: D

12. Coziim:

Soruda verilen, ‘ingilizce, 8grencilerin
mUifredatina zorunlu bir ders olarak girdi-
ginde, bu durum [ngilizce 6gretmenleri igin
yabanci 6grencilere Ingilizce 6gretmekte bir
sorun haline geldi ancak onlar ingilizceyi bir
beceri olmaktan ¢ok bir bilgi konusu olarak
dgrettiler, cinki asil amaglar &grencilerin
sinaviari gegmesiydi. ifadesine en yakin
cimle B segeneginde verilmistir.

Dogru cevap: B

13. Coziim:

Soruda verilen cimlede, 'Shakespeare t{im
yaratici enerjisini 6ncelikle sahneye odakla-
di ancak o kendi zamaninin en dnde gelen li-
rik sairlerinden biriydi de.’ ifadesine en yakin
climle E se¢enegdinde verilen, * Shakespeare
yaratici enerjisini cogunlukla sahneye uygu-
lad, fakat o ayni zamanda seckin lirik sairler
icin de yol agmis oldu.’ ifadesidir.

Dodru cevap: E

14. Coziim: . ]

Pargada ana dil 6greniminin ve ikinci bir dil
68reniminin nasit gergeklestigi ile iigili bilgi
verilmis ve ana dil 6greniminin eksik &grenil-
mesinin ikinci bir dil égrenimini de etkiledigi
aciklanmigtir. Bosluktan dnceki climlede, bir
¢ocugun anadilinin temel yapisini ailesinden
dgrendidi belirtilmistir. Bosluktan sonraki
clmlede ise ¢ogu ataerkil toplumlarda bir
bayanin kocasinin yerel dilinden farkit bir dil
ve lehge kullanabilecedi belirtiimistir.

Gordldagi gibi ana dilin 6grenilme siirecin-
den bagka bir konuya 6rnek verilerek gegis
yapimistir, bu ylzden ana dil ile ilgili farkli
bir bakis agisindan bahsedilmeye baslan-
mistir. Bu durumda da boslugu en iyi sekilde
tamamlayacak olan ciimle B seg¢eneginde
verilen , * Ancak, ana dil terimi bir kisinin an-
nesinden 6grendigdi dil olarak yorumlanma-
malidir’ cimlesidir.

Dodru cevap: B
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15. Goziim: AR
Pargada, pozitif ydnden pekigtirme uy-
gulayan OGgretmenlerin dogru davranigl
pekistirmediklerinde problem yagayabile-
ceklerinden ve pekistirilecek davraniglarin
belirlenmesinden bahsedilmistir. Bogluktan
sonraki ifadelerde ise 6Gretmenlerin sirasiy-
la ne tlr pekistirmeler kullanmalari gerektigi
belirtiimistir. Parganin geneli dikkate alindi-
ginda bosludu en iyi sekilde tamamlayacak
olan ifade C seg¢enegdinde veriimistir. * Bunu
yapmak her zaman goriindigd kadar basit
degildir.

Dogru cevap: C

16. Coziim:

Pargada, annelerin veya bakicilarin bebekler
ile olan &zel bir konusma tiriinden (mothe-
rese) bahsedilmektedir. Ancak 4. cimlede
diger ctimlelerden farkli olarak ‘abartili ifade-
lerin ‘motherese’nin farkh bir ydnii olmasin-
dan ve bebeklerin yliz ifadelerine farkh yanit
vermesinden’ bahsedilmesi parganin bitin-
I[GginG bozmustur. Parga dikkatli bir sekilde
okundugunda 4. cimle gikarldiginda, 3. ve
5. cUmlelerin aralarinda bir anlam batunli-
g0 tasididr gorulecektir. Zira 3. cimlede ki
‘eder bebegdiniz konugmaya karst ilgisini kay-
bediyor ve esnemeye basliyorsa, muhteme-
len konugsmayi sonlandirma vakti gelmigtir.
ile 5. climlede ki ‘e§er cocudunuz daha ¢ok
anliyorsa, konugsma seviyenizin yani sira kul-
landiginiz dilbilgisi karmasikhdini da arttira-
bilirsiniz.” cimleleri arasinda anlam bitdnlG-
gundn oldugunu gdrebilirsiniz.
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17. Goziim: o ]
Parcada, icerik bazli yaklagimin bilimsel bir
icerik ile ikinci bir dilin ayni zamanda &§reni-
lebilecegi belirtilerek 5. climleye kadar konu-
dan sapmadan igerik bazlh yaklagimin asa-
malari érnekler veriterek anlatiimigtir. Ancak

" B, clmlede'6Jretmenlerin édrencilerin konu

hakkinda 6nceden 6grenmis olduklan bilgi-
leri dikkate almalari gerektigi ve hedef dilin
dgrencilere ilging bir konunun sunulmasiyla
daha iyi dgrenilebilecedi’ vurgulandigindan
farkl bir konudan bahsedilerek parganin an-
lam batinligi bozulmusgtur.

Dogru cevap: E

18. Céziim:

Soruda, hangi cimlenin bir topluluk adi (col-
lective noun) igermedigi sorulmaktadir. A
sikkinda ki a swarm of wasps (esek arisi
slrs); B sikkinda ki his congregation (ce-
maat / topluluk); C sikkinda ki gang of cri-
minais (suglular ¢etesi) ve E gikkinda ki the
audience (seyirciler) ifadeleri topluluk isimle-
ridir. Ancak D sikkinda herhangi bir topluluk
ismi ifadesi yoktur, climle de geldirici olarak
verilen her whole body ifadesi bir topluluk
ismi degildir sadece belirtilen kiginin tiim vi-
cudunun hastaliktan dolayi sahip oldudu bir
ozellik belirtilmistir.

Dogru cevap: D

19. Coziim:

Soruda, reciprocal (one another) ve reflexive
(myself, themselves, himself, herself) prono-
ur'larin hangisinin kullaniminin yanlis oldu-
gu sorulmustur.

Each other yapisi iki, one another yapi-
sl ise ikiden fazla gey ve kisiler icin kulla-
nilir. B segenedineki ‘Bunlar birbirinden
hoslanmayan iki takimdir.’ ifadesi each other
yapisinin kullaniimasini gerekli kilmaktadir.
Bu nedenle bu climlede one another yerine
each other yapis! kullaniimaldir,

Madru cavan' B



20. Goziim:

Soruda, hangi cimlede bir yapisal belirsizlik
(structural ambiguity) kullanildigi soruimus-
tur. Yapisal belirsizlik; bir cimlenin sézdizimi
sebebiyle birden fazla anlama gelmesidir.

CUmleler incelendiginde yalnizca A segene-
dinde verilen ifadenin birden fazla anlama
geldigi gorllmektedir.

1. anlam: Sizi sekreterim olarak ¢agiraca-
gim.

2. anlam: Size sekreterimi ¢adiracagim. (Si-
zin icin sekreterimi ¢agiracagim.)

Dogru cevap: A

21. Goéziim:

Soruda, segeneklerin hangisinde bir sonekin
(suffix) kullanildigi sorulmustur.

D se¢eneginde ki ‘beautiful’ kelimesi ‘ful’ eki-
ni alarak anlam olarak degisiklige ugramistir.

Beauty — Beautiful

Dodru cevap: D

22, Cozlim:

Soruda, seceneklerde verilen kelimelerden
hangisinin tek heceli bir kelime olmadid: so-
ruimustur.

D segenegi digindaki segeneklerde verilen
kelimelerin hepsi tek heceli (monosyllabic)
kelimelerdir, ‘Horrible’ kelimesi iki heceli
(bisyllabic) bir kelimedir.

Dogru Cevap: D

23. Goéziim:

Ingiliz dilbiliminde ekler inflectional ve deri-
vational olmak lzere ikiye ayrilir. Inflectional
eklerinin Turkge'deki karsihi ‘cekim ekleri’
dir ve bu ekler eklendikleri sézctiglin anla-
mini ve tlrinl degdistirmezler. Derivational
eklerin Turkge'deki karsiligr ise yapim ekleri-
dir. Derivational ekler eklendikleri s6zctiglin
anlamlarini ve trinl dedistirirler.

Verilen segenekler incelendiginde ;
A segenedinde; Drive — Driver

B segeneinde; Heavy — Heavily

D Segeneg“:jin_de; Build — Building

E segenedinde; Accept —~ Acceptable

Gorlldaga gibi bu kelimelere eklenen ekler
. | kelimelerin hem anlamlarini hem de tlrinG

degistirmistir, ancak C segenedinde ki ‘Mar-
ried’ sbzclgine eklenen ek (-ed takisi) ya-
pim eki degildir.

Dogru cevap: C

24. Géziim:

Soruda ‘the’ yapisinin hangi climlede yanls
kullanildi§i sorulmustur.

A,C,D ve E seceneklerinde ‘the' yapisi dogru
kullaniimistir. Sehir isimleri 6zel isim oldukla-
riigin bunlari belirtirken ‘the’ kullaniimaz. Bu
ylzden B segenegdinde ‘the’ yapisi bir sehir
ismi (Seoul) ile birlikte kullanildigi.i¢cin yanhs
kullanitmigtir -

Dogru cevap: B
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25. Gozlim:

Soruda, verilen segeneklerden hangisinde
'she’ zamirinin Jane'i dedilde baska birini
belirttidinin bulunmasi istenmistir.

Secgenekler incelendiginde A, B,C ve E se-
geneklerinde ki zamirler ile Jane's gonder-
me yapilirken D segeneginde bagka birinden
bahsedilmektedir ve bu bahsedilen kisinin;
Jane'nin hirsizliktan suglu oldugunun farkin-
da oldugundan bahsedilmigtir.

Dogru cevap: D

26. Coziim:

Soruda hangi segenekte bir noktalama yan-
lisinin ofmadidt sorulmustur,

A seceneginde; 6rnek verildigi icin virgll yer-
ine noktal virgll kullanilmas| gerekiyor,

C segenedinde; and baglaci ile ctimle birbi-
rine baglandi§i igin herhangi bir noktalama
isaretinin kullaniilmamasi gerekiyor.

D se¢enedinde; but baglaci ile cimle birbi-
rine baglandidi icin herhangi bir noktalama
isaretinin kullanilmamasi gerekiyor.

E segenedinde; bir agiklama verilmesi ve
that ile de bu agiklamanin ifade edilmesi
nedeniyle herhangi bir noktalama isaretinin
kullanilmamasi gerekiyor.

B segeneginde ise, her ne kadar climlede
soru anlami varsa da verilen ciimle bir soru
cimlesi degildir, bu ylizden nokta isaretinin
climlenin sonunda kullaniimasi dogru bir kul-
lanimdir.

Dodru cevap: B

27. Cozim:

Soruda, hikayede baska karakterlerin ba-
sindan gecgen olaylarin ana karakter veya
dnemsiz bir karakter tarafindan ben (l) veya
biz (we) Oznesi kullanilarak anlatiimasinin
hangi yazar tlrline ait oldugu sorulmaktadir.
Bu durumda da first-person ( birinci-tekil)
anlatici tirindeki bir yazarin ifade edildigi
acikga anlasiimaktadir.

Dogru cevap: B

28. Céziim:

Soruda bir karakterin duygusal ve ahlaki ge-
ligiminin ayrintili bir sekilde ele alindigi ro-
man tGrdnin ne oldugu sorulmustur.

Bildungsroman, bir kisinin gegmisten bu
glne, kisinin do§umundan itibaren gelisimini
anlatan romandir.

Dogru cevap: C

29. Goéziim:
Soruda 6rnekleri verilen edebi terimin ne ol-

dugu sorulmustur.

Simile (Benzetme): Birbirinden farkli olan iki
kavram yada nesnenin benzetme edatlan
(like, as) kullanilarak karsilagtiriimasidir.

MYadvi O ovarn: Y



30. Cézim:

Bu tur sorulan OSYM'nin dil sinavlarinda
sormus oldugu paragraf sorularina benze-
tebiliriz. Bu tdr sorular bilinen paragraf so-
rularindan hem daha basit hem de daha az
zaman almaktadir. Verilen segenekler ince-
lendiginde;

A seceneginde; Grendel'in Beowulf'u ya-
ralayan canavar oldudu belirtilmistir, fakat
Beowulf'u yaralayanin Grendel olmadid,
Beowulf'un 6nceden bir dragon ile yaptig
muicadele sonucu yaralandidi agik¢a belir-
tilmistir.

C segenedinde; Hrotgar'in bir canavarin ko-
nakladigi bir yer oldugu belirtilmistir, ancak
Hrotgar, Heorot adli yerin krahnin ismidir.

D seceneginde; Dragonlar gibi dogatstil

varliklarla savasmak eski Ingiliz edebiyatin- -

da yaygin olarak karsilasilan bir durum oldu-
gu belirtiimistir. Bu ifade her ne kadar eski
ingiliz edebiyati icin dodru olsa da paragraf-
ta bdyle bir durumdan s6z ediimemistir.

E segeneginde; Beowulf'un kral olmak igin
savasgllari ile beraber Hrotgar ile miicadele
ettigi belirtilmistir, ancak paragrafta boyle bir
durumdan s6z edilmemistir.

B segenedinde; Beowulf'un bir karakterin
kahramanlik ve cesaretini konu alan bir siir
oldugu belirtilmistir. Paragrafin ilk clmle-
sinden bu yargiya Kolaylikla varabiliriz. Pa-
ragrafin geneli incelendiginde de paragrafin
ana konusunun Beowulf adli karakterin kah-
ramanlik hikayelerinden bahsedildidi aniagii-
maktadir.

Dogru cevap: B

31. CHzlim:

Soruda, Shakespeare’nin oyunlarinda ki
protagonist-antagonist  eslestirmelerinden
hangisinin dodru ofmadidinin bulunmasi is-
tenmektedir.

Verilen secgenekler incelendidinde B sece-
heginin digsindaki segeneklerin dogru oldudu
gérulmektedir. Shakespeare’nin ‘Romeo and
Juliet’ eserinde Romeo ve Juliet karakterleri-
nin her ikiside protagonist (kahraman)‘dirler.
Bu iki kahramana karg! olanlar (antagonists)
ise Montagues and the Capulets'tir.

Dogru cevap: B

32. Coziim:

Soruda, insanin egsiz bir konumda oldugunu
ve her insanin kendi segimlerinden sorumiu
oldugunu belirten edebiyat akiminin ne oldu-
du sorulmustur.

Existentialism (Varolusguluk): Insaniarin
kendi kararlarindan ve davranislarindan
kendilerinin sorumlu olduguna dayal olan
bir felsefi dlglincedir. Bu dlslinceye gére
her insan kendi kaderini kendisi belirlemek-
tedir, bu ylizden insanin kendisinden bagka-
si kendi yaptigi eylemlerden dolayl sorumiu
tutulmamalidir.

Dogru cevap: E

33. Coziim:
Soruda, aciklamasi verilmis olan kavramin

ne oldugu sorulmustur.

Stanza (d6rtlik): Bir giirdeki cimle gruplari-
dir. (A group of lines in a poem)

Dogru Cevap: B
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34. Gozim:

Insan dilinin 6 ana oézelligi diger iletisim sis-
temlerinde bulunmamaktadir ve bu ézellikler
sadece insan diline aittir. Bunlar; Yer degisti-
rebilme (Displacement), Anlam ve simgesel
yaziligin birbirinden bagimsiz olusu (Arbitra-
riness), Kiltirel Aktarim (Cultural transmis-
sion), Verimlilik (productivity), Ikilik (Duality),
Ayriimishk (Discreteness)'tir.

Insan dilinin ‘Displacement’ ézelligi sayesin-
de insanlar zaman ve mekan i¢cinde mevcut
olmayan nesneler hakkinda konusabilirler,
kurgulama yapabilirler ve gelecekle ilgili tah-
minlerde bulunabilirier.

Dogru cevap. D

35. Goziim:

Soruda, ‘potato’ and ‘vegetable’ arasindaki
anfamsal iligkinin ne oldugu sorulmustur. Bu
iki nesne arasindaki anlamsal iliski séyledir:
‘potato’, ‘vegetable’ in ait anlamini (hyponym})
ifade etmektedir, ¢lnkll potato, vegetable
grubundadr. ‘Vegetable' ise ‘potato’ nun Ust
anlamini (superordinate) ifade etmektedir.

Dogru cevap: k&

36. Coziim:

Soruda, tiim insantarin dogustan bazi dilsel
kurallarla dogduklarini ve bu dil kurallarinin
insanlarda taklit sonucu olusmadidini do-
gustan kendilerinde mevecut bulundugunu
savunan teorinin ne oldugu sorulmustur.

Soruda agiklamast verilmis olan dil teorisi
Noam Chomsky’nin Universal Grammar (Ev-
rensel Dilbilgisi) teorisidir.

i

37. Goziim:

Soruda, agtklamasi verilmig olan terimin se-
ceneklerde verilenlerden hangisinin oldudu
soruimustur.

Cognates: Farkh dillerdeki kelimelerin farkl
dillerde kullanthyor olmalarina ragmen ayni
anlama gelmesidir.

Dogru cevap: A

38. Goziim:

Soruda, segeneklerde verilenlerden hangiSi-
nin Grice’in konugma ilkeleri kuramindan biri
olmadigi sorulmustur.

Grice, konusma eshasinda dikkat edilme-
si gereken doért temel ilkeden bahsetmistir,
Bunlar; Quantity (konusmanin gerektigi ka-
dar bilgilendirici olmasini savunan

hicelik kurall), Quality (konusmanin gercege
uygun olma-

sini savunan nitelik kurah), Relevance (ko-
husmanin badlantili clmasinin  gerektigini
savunan bagdintt kurah) ve Manner (konus-
manin kisa, 6z ve acik olmast gerekfidini sa-
vunan agiklhk kurali)dir.

D secenedinde verilen ‘Hedge’ Grice'in ko-
nusma ilkelerine ait bir kavram dedgildir.

Dogru cevap: D

39, Coziim:

Soruda, insan beyninin sol yari kilresinde ne
tir bir faaliyetin gergeklestigi sorulmustur.

Insan beyni iki yarimkireden olugmaktadir.
Bunlar sad (right) ve sol (left) beyin yar
kureleridir. Beynimizin sol yart kiresinin
ic ve orta kisimlarinda bulunan dort ayrn
bélim dilsel yeteneklerimiz igin ayrilmisgtir.
Secenekler incelendiginde C seceneginde
verilen ‘ language skills’ (dil becerileri) ifade-
si dogru bir ifadedir.

Dadru cevan: C



40. Cozlim:

Soruda, agiklamasi verilmis olan yabanci dil
dgretiminde kullanilan yaklagimin ne oldugu
sorulmustur.

Eclectic Approach: Sadece tek bir dil 6g-
retme ybntemine badl kalmak yerine, cge-
sitli yontemlerden yararlanma dlsincesne
dayanan ve birlegtirici bir anlayigi yansitan
yontemdir.Bir dgretmenin ders esnasinda
birden fazla dil 6gretme metodundan yarar-
lanarak her 6grenme durumuna uygun di-
sen bir yontemi belirler.

Dogdru cevap: A

41. Goziim:

‘Error’ ve ‘mistake’ kavramlari eg anlamh gibi
gorinseler- de farkh kavramlardr.

Soruda da agiklandigi gibi, 'mistake’ rastge-
le yapilan hatalardir ve zamanla diizeltilebil-
mektedir, ‘error’ ise &Jrencilerin dJrenilen
dildeki belirli bir formu bilmemelerinden kay-
naklanan hatalardir ve édrenciler bu hatalan
yardim almadan kendi baglarina dizelte-
mezler.

Klasik pedagojide ‘error and mistake’ arasin-
da ki fark soyle de tanimlanabilir: ‘mistake
(hata) bir defaya mahsustur ve dikkatsizlik,
yorgunluk gibi nedenlerden dolay! yapiimak-
tadir, bu nedenie yapilan bu hata 6grencide
yerlesmis bir davranis degildir ve yapilan
bu hata 6grenci tarafindan diizeltilebilmek-
tedir. ‘Error (yanhs) ise 6grencinin bir konu
hakkinda bilgi sahibi olmamasindan dolayi
slrekli yanlis yapmasidir, yapilan bu yanlig-
lar 6grencide yerlesmis davraniglardir ve 63-
rencilerin yanhglarini fark edip dizeltmeleri
imkansizdir.

Dodru cevap: D

42. Goziim:

Soruda, aciklamatari verilmis olan okuma
tlrlerinin segeneklerde verilenlerden hangi-
leri olduklari sorulmustur.

Skimming (G6z Gezdirme): Bir konu hakkin-
da genel bir fikir edinmek igin yapilan oku-
madir,

Scanning (incelemek / Taramak): Bir metin-
de 6zel bir bilgi bulmak icin yapitan okuma-
dir.

Ornegin, bir raporun igerigi hakkinda bilgi
sahibi olmak igin ‘skimming’ (g6z gezgirme)
yapllir. Bir telefon rehberinde bir isim veya
bir numara bulmak igin ‘scanning’ (tarama /
inceleme) yapilir.

VSmavda sorulan paragraf sorularina yonelik

bir siralama yapacak olursak; parganin kisa
bir 6zetini almak igin dnce skimming sonra
parcayl anlamaya ve kavramaya dondk in-
tensive reading daha sonra da soru kékiinde
verilen sorunun cevabini bulma amagli scan-
ning yapilir.

Dogru Cevap: A

43. Goziim:

Soruda, segeneklerde verilenlerden hangi-
sinin yabanc! dil ediniminde bir motivasyon/
gudtlenme tlra olmadigi sorulmustur.

C se¢enegdinde verilen fizyolojik' ifadesi ya-
banci dil ediniminde ki bir motwasyon/gudu-
lenme tar( degildir.

Dogru cevap: C
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44.Géziim: | |

Soruda, agiklamasi verilmig olan test tarl-
nlin ne oldugu sorulmustur,

Diagnostic test (tanilayici test): Ogrencilerin
onceki bilgilerini 6lgmek igcin uygulanan test
tirtidlr. Bu tlr testler, ddnem baginda, orta-
sinda veya sonunda uygulanarak égrencile-
rin konuyu ne kadar 6gdrenip 6grenemedikle-
rini belirlemek icin kullantlir.

Dodru cevap: B

45. GCoziim:

Curriculum {mifredat) okul idaresi yada egi-
timden sorumlu yetkililer tarafindan hazirla-
nan, hedeflerin ve hedeflenen davranisglarin
edinilmesini sadlayan genel bir kavramdir.
Soruda da agciklandi§i gibi, &dretmenler,
curriculum (mtfredat) sayesinde yil boyunca
neler 6gretmeleri gerektigini bilirler ve ders
programlarini buna gére hazirlarlar.

Syllabus (ders izlencesi) ise genellikle 5gret-
menler tarafindan hazirlanir ve ders boyun-
ca Ogretilecek ve gergeklestiriliecek amac,
icerik ve etkinlikleri kapsar. Ogrencilerin,
syllabus (ders izlencesi) hakkinda énceden
bilgilendirilmesi, onlardan i¢cinde bulundukla-
r editim 6Jretim déneminde hangi davranis-
lara sahip olmalari gerektigi hakkinda bilgi
verir.

Curriculum (mUfredat), Syllabus (ders iz-
lencesi) a gbre daha genis bir kavrami ifa-
de eder. Curriculum (mufredat)i bir hedef,
Syllabus (ders izlencesi) | ise bu hedefe gi-
den yolda bir arag olarak distnebiliriz.
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46. Géziim:

Segeneklerde verilen ifadelerden hangisinin
gocuklara yabanci dil 6gretiminde gecerli
olmadigi sorulmustur.

D segenedinde verilen ‘Onlarin genellikle
motivasyonlari daha fazladir ve daha uzun
slreli dikkate sahiptirler.’ ifadesi yetigkinler
icin gecerli olan bir ifadedir. Bu ifadenin ak-
sine ¢ocuklarin dikkat slreleri daha kisadir
bu ylzden ders esnasinda silrekli gérsel
materyallerden yaralanilir. Ayrica gocuklarin
motivasyonlar yetiskinlere gére daha azdir.

Dogru Cevap: D

47. Coziim:

Cocuklar, ‘'ma’, ‘da’, ‘ba’ gibi basit sesleri C
segeneginde verilen ‘Babbling’ evresinde ¢t-
karirlar.

Dogru cevap: C

48. Coziim:

Yabanc! bir dil 8grenenler tarafindan yapilan
dil yanliglarinin nedenini anlayabilmek i¢in
ana dil ile:-yabanci dil arasindaki benzerlik ve
farkhliklarin karstlagtiriimasina ‘contrastive
analysis’ denir.



Soruda, iki cimlede 6rnek olarak verilen
‘foot’ (ayak) sdzclglniin seceneklerde veri-
lenlerden hangisine &rnek tegkil ettidi sorul-
mustur.

Polysemy (cok anlamlilik): Ingilizcede bazi
kelimelerin birden fazla anlami vardir. Bu du-
ruma polysemy (cok anlamlilik) denir. Ornek
olarak verilen iki ctimlede de ayni sézculk
(foot) kullaniimistir ancak her iki climlede de
bu sdzciglin anlami farklidir.

Dogru cevap: D

50. Géziim: R

Bir eserin komik bir sekilde taklit edilmesine
B segeneginde verilmis olan ‘parody (komik
taklit)’ (satire) denilir.

Dogru cevap: B



